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| DO NOT OPEN THE BOOKLET UNTIL YOU ARE TOLD TO DO SO.

POLYTECHNIC ADMISSION TEST - 2021
SET - D

RN

Time : Two Hours
Full Marks : 100

Read the following instructions carefully beforc you begin to answer the questions.

INSTRUCTIONS TO CANDIDATE

|, IMMEDIATELY AFTER RECEIVING THE TEST BOCKLET YOU SHOULD CHECK THAT
THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR
ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BGOKLET.

3. This booklet contains 100 questions to be answercd in a separate OMR Answer Sheet using
Black Ball Point Pen in circles only as shown below

3. Read the questions carefully before marking your answer. Candidates are strongly ndvised not to
changg or erase once the answer is marked,

s All questions are compulsory and carry | mark each.

5. Vou will be supplied the Answers Sheet separately by the invigilator. You must complete the details
of particulars asked for, all are mandatary.

6. Answers must be shown by completely blackening the corresponding civeles in the Answer Sheet
against the relevant yuestion number oy Black Ball Point Pen.

Example .
Supposing the following question is asked :
The Capital of Arunachal Pradesh is—
(a) Guwabhati (h) lanagar
(¢) Shillong (d) Goa
You will have four alternatives in the Answer Sheet for your response co rresponding to each question

of the Questicn Booklet as below !
@®O@

In the above illustration, if your chosen response is alternative (b) i.e. Itanagar, then the same should
he marked on the Answer Sheet by blackening the relevant circle with a Blnck Ball Point Pen only

as below . @.@@

WHICH 1S THE ONLY CORRECT METHOD OF ANSWERING.

7 Answer the guestions as quickly und as carefully as you can. Some questions may be difficult and
others egsy. Do nol spend too much lime on any one question

3 There will NOT be any negative marking for wrong answers,
9 The OMR Answer Sheel must be handedaver o the mvigilator before you leave the [ xaminatiorn

Hall
10, No rough work is to be done on the OMR Answer Sheet. Space for rough work has been provided
1 the question booklet. O TOURE

1 e varmination will be cancelled if a candidate is found 16 adept unfair means in amy form,
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Full Marks : 100 Time : Two Hours

|—40 in Part-1 and 41-100 in Part-II. Each

There are 100 questions in this question boaoklet.
ons from 1 to 100, four answers

question carries 1 (one) mark. For each of the following questi
@). (b), (¢) and (d) are provided, out of which only one is carrect. Darken the circle against
the correct answer with Black Dall Point Pen. Darkening more than one circle will be

considered as Wrong answers.

o wfees 10051 o SiCa| IR 13 <[ 4073 29T 2o =F 419 =F 100 %= Re™
Qs A a0 | ST 2T TR 1 (9F) | e gHeid -3 1007 2fek! g I FiRoLE
@), @), © 9% (d) Taq fiml R T «b o e 9w TIWER e Tl 1@
S8 (A =4 T «ErerE @R T o IR Teadl T I W T

PART - I
MATHEMATICS

1. The co-ordinates of the point which divides the linc scgment joining the points
(4, =3) and (8, 5) in the ratio 3:1 internally are

(4, -3) &= (8, 5) AW 7N EUHeTEF 3:1 SEATS wekew F=1 FER T RE
LE |

® @, -7) LB 4.9
© (. 3) @ © 9
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the vertically opposite angles arc

wdier AT A faos &4

(h) straight angles

2 If two lines intersect each other, then
W ula B Aareid abiafl e, Co 4

(@) right angles

prieab ARALAA
@ obtuse angle @ equal
et Al

3 1If one of the angles of a pair of interior angles on the same side of the tmﬁsvemal
of two parallel lines is 60° then the other angle is

ﬁmwmﬁﬁwmmmqmaﬁmm“mm

=m SieE uE T
@ 30° @ 40°
© 90° @ 120°

4 Tf the measurement of an augle which is nol opposite to gyual sides of an isosceles
triangle is 40°, then the measurement of one of the ather two angles is

o7 B R e T 42 R ReFie Tz AUd (@R e 407, O =
e 4R <BR @MY 29

(@) 30° ®) 60°
/@ 70° @ 800

5. ‘ﬁfhat is the measurement of an exterior angle formed by producing the side of 2
triangle if the sum of two interior opposite angles of the triangle is 135°7 '

fage <51 9 51 quiE Wz Cerm caral afEraee W fEm 27, T Refre s
qOR e 1359 @y

60° {@ 650
@© 90° @ 135°
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6. If a quadrilateral is a parallelogram, then which of the following is not true?

% G0 5YSE AWEES T, 0% Ted (DAG T ¢
(a) opposite sides arc equal
ReEre ALIT AN =W
@ opposite angles are not equal
Redle @RERE T T
@ diagonals bisect each -athef
i AEdes =

(d) a pair of opposite side is equal and parallel

g BT 9T A9 W FuEEE ol

7 If the distance of ene of thé two equal chords of a circle from the center is 5 cm,
then the distance of the other equal chord of the circle from the center is

o @Bl 64 TEE I TIN G G0 (I SR TR 5 om W, (90F S A
ol G JEBA (@ Aal {E 29
@ 10 cm @ 15 em e
’@Scm (d) 20 cm S

8. The three angles in a A ABRC such that £C = 3B = 2 (£A + £B), then the angles

of the triangle arc

a6l fage ABC aragat @1 £C = 3/B = 2 (ZA + ZB), <% RgoR @ (%! 17

&) 30°, 40°, 110° (B 20° 40°, 120°

() 400, 60°, 8OV (d); 60, 07, 80P
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9. The criterion for non-similar triangles is

e [Ie ANEAE TeC! XA

ASA () AAA
© 888 (@ SAS

10. Sides of two similar triangles are in the ratio 5:11. The areas of these triangles are
in the ratio _
@Wﬁw@lwaﬁwm 5.11. Rrgw wom AR LA EX|
@23 (b) 81:100
(©) 25:121 (@ 50:110

11. (sec A + tan A) (1 - sin A) = 7
(@) sec A (o) sin A
(©) cosec A (d) cos A

12. If AABC is right angled at C, then the value of cos (A+B) is
AABCT £C = 90°, ¢ot® cos (A+B)T IW T«

@1 ® 1
oF; @2

13. If two sides of a tri . . ;
et a triangle are 8 cm and 11 cm and its perimeter is 32 ¢m, then its
I O fESTR W6t 9 D 8 cm e : ;
. 11 % 2=
s Hifd 29 Sl q AR 32 om, T (9%

@ e @ 10 ecm?
@ 12 cm? @ None of these
QIR BIE AZW
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14. If four sides of a quadrilateral ABCD arc langential to a circle, then
1% 61 TEEH ABCDA IFTETE Bt g e IR (S0

@ AC+AD = BD+CD @ AB+CD = BC+AD

[

@ AB+CD = AC+B(C @ AC+AD = BC+DB

15. The diameter of the base of a right circular c¢ylinder whose curved surface area and

height are 88 cm® and 14 cm respectively is

14 cm E®wOA F¥ JATA p@ «OF IF A3l 88 cm® A pEdA $RE TR TT

lcm ®2cm
(©) 3em (d) 4cm

16. The diameter of a sphere is 6 em. It is melted and drawn into a wire of diamcier

2 mm. The length of the wire is
6 (2. A (dlEE a6 SiEE 2 mm HEERE U SR IR TE | SEErFR (Y X9

@ 12m (b) 18m T'\

© 36m @ 66m N

17. The curved surface area of a right circular cone of height 15 cm and base diameter

16 ¢cm I8
TEM F GG Tl 15 . @ B w16 (f T OR Iw sjEe @F T3
6Uﬂcm’ @ 68 11 em®

(©) 120 11 env’ @ 136 ] cm®
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|8 For a frequency distribution, mean, median and mode arc connected by the relation,
o0 e (st av, Al i A edrhl o9

(a) Mode = 3 mean 2 median
quem = 3 ¢ WA -2 7 AR
(b) Mode = 2 median —3 mean
g = ) ¢ WMTHl -3 = WY
@ Mode = 3 median —~2 mean
o = 3 o« WM -2 > i
@ Mode = 3 median +2 mean

oA = 3 ¢ WYFE| + 2 = WHY

ol
%
19. The mean of marks 10, 20, 36, 40, 39 obtained by a student is LW
10, 20. 36, 40, 39 794 (oK1 T G&E W XA -
(a) 30 (b) 35
© 2 @ 25

If the median of the data 24, 25, 26, x+2, x+3, 30, 31, 34 is 275, then x=
24, 25, 26, x+2, x+3, 30, 31, 347 27'5 T xq 99 39 ,

@) 27 ®) 25 5
(d) 30

OF.

= S _
VA G4 e afacn ye by G sgifaey o

(@)1

oF ‘
@ 3
PAT-2021/SET.D. 5000 (6)



22, Which of the following cannot be the probability of an cvent 7
woid @A GO YBR Swifde g

® 3 ® -1
©) 15% @) 05

23. The probability of not hitting a boundary by a batswoman when she hits a boundary
6 times out of 30 balls is

aen Wi IRE TEGE 99h fFES (eEw 3061 9o fewas 661 agred i,
cod TBoLd FHIFIRRE AsiEe 9

12 4
@ 13 ® 35
12

@0 @ 35

24. Let X=7 be a rational number with terminating decimal expansion. Then prime

factorization of q is

o5 ARGR A X =g 7 W R R 2E g3 G Sestieel 2
2 3N @ on gm

@ 40 gm @ L

25. Product of two irrational numbers is

A0l WARGH RYA 4T 24

(a) irrational number (b) not always irrational
SsffacT el TR AR
() rational number (d) integer
R e CE R

PAT-2021/SET-D-5000 (7) [Turn over



7
26. The number ﬁ is

.
TE HLLJLDT Eo
rational @ irrational
AR ST
(c) integer (@ Nonc of tnese
. 43r4iax Aot F

27. Which of the following algebraic expressions is 2 polynomial ?
ToR (I depiEeE TR JEEm = 2

x"'l @ \";*1‘3

x

OF o @ % +2x +3

28. If the product of the zeros of the polynomial 2x* —p(x-1)-3 is 1, then the value
of pis

2x* — p(x-1)=37 TN *7% | T pI TH T 2% -
@ 5 @ 4
© 3 @ 1

29. A quadratic polynomial whose zeros are 4, 1, is
fadie JuAF G TE U YOl 4 W | oW

@ X+ 5x+2 ® EN

[ Frieed @ X'~ 5x 44

PAT-2021/SE1-D-5000 . (&)



30. The remainder when 3x*—x*=3x+5 is divided by x 1-x2 is

pi-x'-3X+5 ¥ x—1-x°A T TRE ST T

@3 @x—l
©) 3x -2 @ 3

f linear equations ax + by + ¢, =0 and ax + b,y + ¢, = 0 is inconsistent

31. A pair 0
if
o TRE IR ax+by+e, = 0 W ax+by+e, =0 TS TR
4,5 5w Mo
@ 2, by 9 b, €y
© “7Aal (d) Nome of these
AR AOr8 G

32. The linear equations 3x—5y—2=0 and 27x =45y + 18 have
Ix—5y-2=0 o 27x =45y + 18 <& WS AT=4 HH

@ no solution @ infinitely many solutions
CHITAl FIIYR 7R SEPB ARATE YN ST,
() finitely many solutions (d) None of these
N HRGF TG SRR GE(AI44 AbIE A%
733 Solution of the following pair of i fons i
[adee ¢ tollowing pair of linear equations 15 x_ % .0
:'E B }r B U .-]' ]
2 %o
2x+by = b+ 4

PAT- M p I
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: : 1 _ ¢ = 0, then the
34, If o and : are the roots of the quadranc equation e - Sl
et

value of ¢ is

I
252 4 bx — ¢ — 0 FARRADE I o A€ Eﬂacamﬂfﬂ
2
|@ 2 @
© 1 @ -1
35. If p and q are the roots of the equation X*—px+q = U then
xz—-px+q=[}ﬁ1?ﬁ'¢ft?ﬁ‘5{ﬁi‘m p o q e
@ p-l.a=-2 @) p=0.3=!
© p=-2.9=0 @ p=-249-"1
36. Sum of n terms of the series J2+ B8 +32 + e is
S5 4B 4 TE A3 s SR CAMICGH 05T TN GO 2T
n+l
@® - (®) 2n(!1)
nin+1)
® % @ 1
37. The sum of the series 1+2+3 + ... +99 + 100 is
| + 243 4 o + 99 + 100 HANTE Q@A T3

(B) 4569 (5) 5500

() 5550 (D) Wais of hess
B ICE it o v EEL
PAT-2021/SET-D-5000 (10)



38, How many lines can be drawn through two points ?

g1 Reg ST e @ S sl e \
@ 1 ® 2 \
@ 3 @ infinitely many lines |

S AF AN

39 [f x is a positive integer such that the distance between points P (x, 2) and Q(3, -6) is
10 units, then x will be

o f P, 2) ST Q3, —6)4 Mot T 10 o T (x FTHH), X3 T T
@3 ® -3
©° @ -9

40. The line segment joining the points (-3, 4) and (1, -2) is divided by y-axis in the
ratio 1s

(=3, 4) =% (1, -2) B seeah @UeT y TRe RAfST T AT X9
i3 (b) 2:3
@3:1 @ 5:2

PAT-2021/SET-D-5000 (11) [Turn over



PART — II (A)
PHYSICS

41, The SI unit of electric power is

tapfes wae Sl 9o XH

(a) Ampere (t) Kilowatt hour
P Rl <01

() Watt (d) Volt

72 ais —r

42. In domestic electric connections, d fuse
e Wfes IEIS, qole e
@ Prevents voltage
s A WO
(b) Blocks current
e <l4l A

(©) Prevents damage due to overloading
-z

L

vt wiie [ye am e | wies iy o
@ Damages appliances

A SR A w6

PAT-2021/SET-D-5000 (12)



43, An electron enters a omagnetie field at right angles to a magnetic field as shown in
dingram.  The direction of” the force acting on the electron will be

Bae oMM A Wb Ealha wdd pue enage wpafiee wies ofice) TEdalE asas
G E I L

— > maognetic field

L]

W \\' i
Electron
(a) to the right (b) to the left
iR A ST
(©) out of the page (@) into the page
LU IR S e sigia feodtal

44. Two conducting wires of same material and of same length and equal cross-sectional
area are first connected in series and then parallel in a circuit across the same potential

difference. The ratio of heat generated in serics and parallel combinations would be

Gt Ay s Ham i o e et qeE AR adwe (e T Wi
ferge smrERA ©ita ie Roc (owe A 41 Te | (HTRG WE TAEIE TS S|
(Za Bl HHS 7]

@ 1:2 ©® 1:4 i x
© 2:1 @ 4:1
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43, An electron enters a omagnetie field at right angles to a magnetic field as shown in
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Bae oMM A Wb Ealha wdd pue enage wpafiee wies ofice) TEdalE asas
G E I L

— > maognetic field

L]

W \\' i
Electron
(a) to the right (b) to the left
iR A ST
(©) out of the page (@) into the page
LU IR S e sigia feodtal

44. Two conducting wires of same material and of same length and equal cross-sectional
area are first connected in series and then parallel in a circuit across the same potential

difference. The ratio of heat generated in serics and parallel combinations would be

Gt Ay s Ham i o e et qeE AR adwe (e T Wi
ferge smrERA ©ita ie Roc (owe A 41 Te | (HTRG WE TAEIE TS S|
(Za Bl HHS 7]

@ 1:2 ©® 1:4 i x
© 2:1 @ 4:1
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45. Two charges CI."—'-"PC and q,= 9puc in air repel each other with a force 0.027N, The

distance between them is

Y WM o g = Ipc W q,= Yuc WA %513 #aAtA 0.027N A T ) gy,

W& Y A
@ om @ 27m
© 63m (@) 3m

46. An electric bulb is connected to 8 220V source. The current flowing through 1 i

0'S0A. The power of the bulb is
220V S O TS @01 PReS AT K TS WA S 0°50A Ryge =
M | IROHE Fael T4

@ uw (® 10w e

© 1100W @ 11w i

47. The phenomenon of electromagnctic induction is

BT pedm e SfEal IR
The process of charging a body
401 IFF TIET A “lafe

(b) The process of rotating coil in an electric motor
g5 WYfeT WA Pod ¢ fiw &S
@ The process of generating magnetic field due to current passing through 2 ¢l

GGl PO ATETI AIA o poa e Beolm = S

@ Producing induced current in a coil due to relative motion between a meZ
and coil

ﬂﬂﬁfﬁ‘ﬂﬁﬁmfﬁﬂmm’ﬁmﬂﬁqﬁmuﬁﬁmqﬁw

PAT-2021/SET-D-5000 (14)



48, Choose the correct substance which is used for making solar cells ?
OTATETE dEesads Ted (oEfaw Jed ez T o 2

Aluminium @ Copper
SepfET el

@ Silicon (d) Gold
fBlEm CHIA

49, The main constituent of biogas is

TR WE Tl &

Methane (b) Ethane
fcam Ela

@ Propanc @ Butane
b = IEEaT|

50. The part of the eye that helps in changing the focal length of the eye lens is
5 G IR T A IEAE v (PG g A 3

Iris (b) Ciliary muscles
< 2l oSt cort

(©) Retina (d) Optic nerve
HiEa =g Ty

51. A concave lens of power 3D is placed in contact with a convex lens of power +3D.
The power of the combination is

mewmﬂaﬂmﬂan@@ﬁmnﬂwmwaﬁw
9| v AR Ol WA @]

+6D ® o0
© -3 @ +D

PAT-2021/SET-D-5000 (15) [Tum over



g . With whg
irror at @ speed of 173 m/s. With e
52. A boy is running towards 2 plane M ,

is he approaching his own image
HIDE wiL * o,
qEm B 1°5 mys ARSTRAA 42 o
s wfeaey (963 AT farml
(b) 2 m/s

1.5m/s
@ _— @ 4,5 m/s

53. The colour of clear sky is blue due 10

fagE wPEE wmﬂcﬂaﬁaﬂaﬂﬁ‘ﬁ

fraction of light
Reflection of light Reir gh

afead
coirRe e (#1128q
(%) Dispersion of light (@ Scattering of light
conieaa Rogsd (A= [AUEie

54. The focal length of a plane mirror is
gus AT el TR vl (TR

(a) Zero @ Positive
= T

@ Negative @ Infinite
A5 5

55. For total intemnal reflection, the angle of incidence is
e o et @ wore cpem T 2 K

(#) Equal to critical angle

@ Greater than critical anglé
A @A e

AEH (TS TIA

@ 90

@ Smaller than critical angle
IS @t

PAT-2021/SET-D-5000 (
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56. The image of an object formed at retina is

@A TG A bpe @bare oS @R afelE ZH

Virtual and erect @ Virtual and inverted
e = faw wHe, SIF STHAG!

@ Real and erect @ Recal and inverted
se Wi {43 He, oS 'GLHIGI

57. An underwater appears to be situated ahove thc aclual position because of

=717 TeE TE 96l [ AARGeAR IE oFT Al efse 4 (T T

Diffraction (b) Refraction
oS S
(c) Reflection (d) Dispersion
Afswam ez

58. Distance between two consecutive crests in a transverse wave is

SREE T 01 SRR AHE e @e 26 -

"N
N ® KU[U[E][CLU%QH_
©» ®

B, N

PAT-2021/SET-D-5000 (17) [Turn over



59, The image of an object formed by @ concave mirtor is ghscrw:d to be virtual, erect

and larger than the object. The position of the ahject 18
N SR HCS ATWREUOIELS Glg, S oy tff 918 A | COACIRTS T

LGRS
@ Between F and C
F @& Ca wis
(B) At the centre of curvature
SleTFeEe
(©) Beyond centre of curvature
clemsa AT
(@ Benween pole of the mirror and focal

iRl G T oE W% «ifeq WEo

60. Which mirror is used as rear view mirror in a car ?
o A e o i e Rowdl TERlY T AR

(a) Plane mirror (b) Concave mirror
HAAgA WAl e LA

@ Convex mirror @ Convex lens
T WAl B @9

61. Hyper-metropia can be corrected with

@ A gEAa ogm Ko aler sfata e e on g
Convex (b) Cylindrical

T@ Pl W‘*ﬁ
@ Bifocal @ Conceave
fi-roe 7@ UE CE|

PAT-2021/SET-D-5000 (18)



62, Light enters from air to water having refractive index 1:33. The speed of light in water

15

(oA ATY Wigwe wfal 133 sifEanea orra swiEs (2 AR (iiEaE @ B
J—xl[]nqu 1 : 108 m/

. s 'JD 266 ) m/s

(© 3x10°mss (@ 225%10°m's

63. The resistance of a conductor is dircctly proportional to its

cuiF ARRIER @Y WA @ A e

Area of cross-section (b) Density
g FA Y
(©) Melting point (d) Length
T o

64. Which of the following terms does nol represent clectric powcr in a circuit ?
e (oWl AP g Fe R

@ R ® ®
ORL =

65. Current through a circuit s maximum through two resistances when they are connected

mn
@maﬂmwmmﬁn’qmﬁmmmmtwww

(a) Parallel (b) Series

Al FelY T AewTo
@ game in both series and parallel @ None of these
ufies o% ANGAlE Yol eErS GEAEY 9Bl uH w%
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ri in the diagram
66. The equivalent resistance between A and B as gIven

Bas A wie B @sg@a o sprgar (A

20 ¥
{

p'- @< 5L
s W s
#’W\!’%’W\JL 3 F—-L,’-E,TL-'
\ 10 S0 /
—A\W\

AW
@ 4Q ORL |
© 20 @ 60 T3

67. The magnetic field inside a long straight solenoid carrying current

YRS W (A HrERe o Tede pEG (FE

increases towards the ends @ is zero
=S FHA &ew D0 IW PRIR-E |

(¢) increases arbitrarily (d) is samec at all points
e e EERtE b an 7 Rre are A

63. The essential differcnce between an AC and a DC generator is that

9B AC (&TRBT % @51 DC (SEEDT Tem qo ey oA

(8) AC generator has an electromagnet while DC generator has permanegnt magnel
AC (ETTEGes RS pa @ SEs DO (RIS I poa AULs

(b) DC generator generates a higher voltage
DC el o wee ey 5% 7

@ AC gencrator gencrates a higher voltage
AC CEEEDE B WY [Rew AR @

C (Oatas smfs Qi wmers DC @Erates fis sfiass aire
PAT-2021/SET-D-5 000 (20)



59. A magnetic field cannot exert any force on a

Wmaﬂmwmﬂnnﬁaaﬂ%@ﬂmﬁ@ﬂaﬁam

(a) Stationary magnet (b) moving magnet
= g e g=

@ Stationary charge @ maving charge
fafeTa s sfeTa SeA

70. The force experienced by a current carrying conductor moving in a magnetic field

s maximum when the angle between the direction of current and magnetic field is

WWW&WWWWWWﬂWQWﬁNW
R W E = A Mpe oRE O pEe (R P e (it =

@ e (b) 45°
() 90° (d) 180°

PAT-2021/SET-D-5000 (21) [Turn over



71.

72.

PART - I1I(B)
CHEMISTRY

Thi und is a solid, The elemes;
An element X form an oxide with formula X,0,. This compo

. iodi le as
X should be in the same group of the periedic table
ﬂf&amﬁﬁﬂéﬂﬁﬁlﬂcﬁmﬁlﬁiﬁﬁﬂﬁmﬂw

X ofEdie X0, A |
- X e arw e

siftels Rere @) GNere t10e
(@ B (k) Na

In one spoonful of sugar is added to one glass of water and stirred, the sugar disappear:.

This is because
e e s o Gt < 9 et GRRE ol ETTERT TR R IRA 27
(a) Sugar reacts with water

(b) Sugar breaks down into particles and occupies the empty space between water

panticles
@l e wiita frofers m s sikfe wiq TR e %S o
(C) Sugar breaks down into particles and these particles evaporate
Bt g @A Fefes @ wiw weiEm aefgs =
(d) Sugar breaks down into Carbon, Hydrogen and Oxygen

ol s, WRuren we sfiesita fofs Ex!

PAT-2021/SET-D-5000 (22)



3. The mass of glucose and the mass of water required to prepare 500g of 10% (mass
hjf mass) solution are :

opiTe 408 THES (G4 fRplesl) oo 7@ oRge Fi5a A0 | B o A= FTe Ale
A9 O T TN S

50g glucosec and 460g water
S0g 23S =% 460g I

(b) 40g glucase and 460g water
40g 4T FE 460g <N

(©) 50g glucose and 500g water
50g Z@T ol 500g =

(@) 10g glucose and 500g water

10g =8 =% 500g A=

74, Copper tums black when it is heated in air. This is due to the:

T Hige R ACHHE TEY FRe A || BRI T
Deposition of Carbon on Copper
FART erET TE T R
() Formation of Cu(OH),
Cu(OH), 15 ¢l
(c) Formation of CuO
CuO 9= (=R
@ Formation of Copper Carbide

7'olq ARG e 4
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23
75. 100 ml of a solution co"taining 18-25g HC] was heated when 10 numbers of H(:l

molecules were lost. The number of HCI molecules left in the solution will be .

HCl ® <o 100ml © 1825g 1ICI ¥Age T2 AUF| 92 J0IS Tad S 1025
HCI = wireR 5= gachte << c@r@ HCl S 53330 7E 3

@ 2011x107 ® 201

@) 3011x107 (&) 6022x107

76. The metal which can be extracted just by heating its ore is—
@9 NiE WeRET Ta o S SNe si9l defiy 2s —
@ Cu @ Ni
@ Na @ Hg
77. Sodium bicarbonate was dissolved in water in a test tube. To this solution an organic
compound was added when a gas evolved with rapid effervacence. The gas was pass

through lime water. As a result the clear line water turned milky. The organic compound
may be:

@mmmmmhﬁﬁwﬁﬁwrm@mmﬁum
Ml Gt PEATS S FEEEE 9Ry (ofg om =) CSTRIRTY G CaPE | e GRS
e i

CH,CH,CH () CH,COCH,
(¢) CH,CHO (d) CH,COOH
78. The Indian philosopher who named the smallest particles of matter as ‘Paramanu’ is
AR T UG Y Bs A w1 SrShos % 8
Aryabhatta (SI5) (b) Kanad (z¥rw)

(¢) Lopamudra (cei=ira) () Katayana (wrejram)
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which of the followine :
. : L Ing is known as bulkminist
1ster fullerene 2

Slo ol = (e RS- T
&0
® iy
@ C‘E‘U
80. The absolute zero temperature s defined as the
o T TWD! T G Gwvel [ Baesrs
All molecular motion ceases
BELAA STSE =
(b) Liquid helium boils
gl R Seorm
(c) Nitrogen becomes liquid
F2H'CE colE gern wEE i =
@ All of the above
SR AT WO

temperature at which

81. Food cars are coated with tin and not with zinc because:

Y 4 ﬁmﬁﬁﬁﬁﬂ?ﬂﬁﬂﬁmiﬂ,ﬁvﬁﬁﬂﬁﬁﬁﬁﬁﬂmlmwﬁa

(a) Zinc is costlier than tin
foremt = () feete @

(b) Zinc has higher melting point than tin
e seee Heta @

@ Zinc is more reactive than tin
frea Baete wiEd FAEw

@ Zinc is less reactive than tin

R AL ool &
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82. The reaction between an alkene and hydrogen in presence of el satalyst:thven

below :

MR ST G | e wie PTG WEre RIS FHICH T4 3

H
R\\. = /”IR Nickel Eaml}-lt} Rl _‘i./_l R
A W it up

The correct statement regarding this reaction is :
<z RfFade s ofve on GeIm! IT5 ¢
(a) Alkenc is oxidised to form alkane
Gl wiFe T geAa= Teow (WY
@ It is an example of addition reaction
X1 9ol Q@i RiFms S
(¢) It is an example of substitution reaction
@2 5t g RN S
(d) Nickel is an oxidising agent
Rres apE wies < s

83. The functional groups for aldehyde, alcohol, carboxylic acid and amide are
respectively

Qﬁw@.ﬁﬁﬁ,mﬂﬁﬁmﬁmﬂlﬁﬁwﬁWE
>C=0, - OH, - CHO, - NH,

(&) CHO, - OIL, - COOH, - NH,

(©) ~CHO, - OH, - COOH, ~ CONH,

(@) >C=0, - OH, - CHO, - CONH,
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84. Solder is an alloy of ;

EWHWWWHEFTNWW@?

(@) Cu and $y (b) Pb and Sr
Cu & S Pb =% Sr
(€) Sn and Pb (d) Cu and Ag
Sn ®im Ph Cu @ie Ag

85. The one having the highest charge to mass ratio is :

mmwmﬁmwwmm%ﬁmms

@ Electron @ Proton
LA SR

@ Neutron @ o — particle,
Hega o — el |

86. A Molecule of butane has Covalent bond.
RE%T 951 s B A i g

@) 3(9) () 10(s0)
(©) 13 (s9) (d) 14 (>8)

87. Curd is the source of
e wee fam ST GomE ool A e

Lactic acid @ Acetic acid
@3 afte qelE ufts

@ Citric acid @ None of the three above
bigfie @ibE 89 f3EGH ahre 7=y

PAT-2021/SET-D-5000 (27) [Tum over



- . x and y are :
B8. In the reaction : Cu+x HNO, —» Cu(NO, ), + YNO, + 2H,0. % y

=~
Ff@w 2 Cusx HNO, = Cu(NQ,), + YNO, +2H,0% x o % yA

(@) 3 and 5 (b) 4 and 2
° HE g a4 =+ 3
b WE Y a9 == S

89. Sodium Zincate I8 -

A fawata Swaem T
NaZn @ Na-zznoz
(c) NaZn (@ Na,O,

90. On a pH scale, we can measure pH from :
PH (#=1 @%ers pHa 3m gl = 2

0-7 ® 7-14

o—9q

i— 38
© 0-14 @ 1-14
Gl >—o>sg

91. Those substances whose odour changes in acidic
ffete s et o FAPH WOTS (g
(a) Olfactory indicators

and basic medig are called

”ﬁa@“ﬁ.ﬂiﬁzﬂwwﬁ:

® Universa] indicators

s 5 ARSI S5
@ Acid-Base indicators @ None of the three
Al e

s ahe ay
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@2 Frhanoic acid has the functional group :
pfie Wffwe i (@R SRiRTEE o b

kiﬁ CHO @ /1y
LF_'-" l‘ﬂ_,H @ ':j{}:.-R

03 Oxides of most non-metals are :

wfes MYT WY SNTONR T 3

@ Rasic @ Acidic
wrady Sitfsas
@ Amphoteric @ None of the three

Tead SRR «ite 7z1

94. The number of protons, neutrons and electrons of Sodium atom having mass number
23 are respectively : i
e S RER SN Al GOre wwl =5, RO Wi i e Wi

@) 11,12, 12 (53, 33, 3%) ® 1,12, 11 (53, 53, 53)
(©) 11,11, 12 (53, 33, 5% (@ 11,11, 11 (33, 53, 3)

93. The number of Carbon atoms in Buckminister fullerene is :
TR PreArs ol FEG ARG AW 2 8
50 (¢o) (b) 60 (¥o)
(©) 70 (40) (@) 80 (wo)

96. A solution reacts with crushed egg shells (o give a gas that turns lime water milky

The solution coniains :

51 waZ &f Ffa cara aTla cuterra ics i FR @b e Sesin o@ S G2 corectia
FU9TT Tl @ed | HAGlE I 8

HCI (b) LiCl

(© NacCl (@ Kl
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97. A compound which contains both covalent and ionic bond is :

Bl N TT e T @i W TR O 9, GRE TS
(@) NH, (5 NHCI
(©) NaCl (d) CH,

98. C,H, belongs to the homologous serics :
CH, cdlonty wom camist iy @i foeas =R ¢
(@) Alkane (1) (b) Alkene (@=f3=)
(© Alkyne (geriz) (@ Cycloalkane (572a"qerass)

99. When dilute HCI is added to Zinc, the following is observed ?
fow &g HClx @%@ Zn a1y el o =, o omehl wifitemsy o 2% ¢
The surface of the metal shines

41y voen GalH €o
(b) Reaction mixture turns milky

Rfdrary b shidleq wee <o 2%

(c) Odour of Chlorine gas
FRT o oifE ety

@ Colourless and odourless gas is evoloved with bubbles
AR DS G Wi <@ o Fsfe =

100.The odour of Ethanoic acid rescmbles :
BMAIE TR (WD oeid (PADT ARLT (o s v =y 2
@ Tomato juice (ReRF 3%) (b) Kerosene (@aiE)
(c) Orange juice (T ¥°7) (d) Vinegar (fstmatm)
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